N = 0l & At & M A

A R == R
M HHE2HAH(F S0 (IIEHIIE)
¢l =gl (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
a1 27,196,226 30,444,175 A 3,247,949
= 2,571,595
& 3,210,000
J| 1,676,896
= 271,005
s 19,466,730
HE2AZH (B =0 (JIEH/IIE) 74,837 74,345 492
Jl= &l 74,837 74,345 492
Jl=dl 74,837 74,345 492
201 Let24d] 28,800 28,308 492
01 At 22/l 27,000 26,508 492
Ogt=&H| 18,936, 000& 18,936
O=gtl 7,000& x24H 541 x0.8x12& 8,064
02 =24l 1,800 1,800 0
Oz22= & HA 150,000 »12& 1,800
202 O4dl 41,837 41,837 0
01 = LH 4 1l 41,837 41,837 0
FN2E JI2ERFE 0 34,560,000 34,560
o0t (Fas A& 8)
75,800 *24 % x4 7,277
203 YR =2l 4,200 4,200 0
04 FN2ELSZTH 4,200 4,200 0
ORAHSY YL =X (FA30005t)
350,000& 128 4,200
AStaT 22(BHFES /M0t - &) 17,039,879 16,563,511 476,368
= 2,014,000
& 3,210,000
J| 1,676,896
< 201,700
e 9,937,283
At QTR 2el 960,952 870,360 90,592
& 550,000
e 410,952
Al OIS4dE HES 70,000 50,540 19,460
401 Al HIZ 201 Y] 70,000 50,540 19,460
01 A& HI 70,000 50,000 20,000
O st&E0tg AR2sE B3 A
10,000, 000& 14! 10,000
OXE Z2(et=) AR>S 22WH S A
20,000,000& =14 20,000
OXNE &aDII0tEe AR SYAs4IA
10,000, 000& 14! 10,000




2N
X ZH -
L= B

el

1z 0z o

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
O=8 U0IE 27246 22 A
10,000, 000& 14 10,000
O=28 3302 FA=JFAEL 2 A
20,000,000 » 14! 20,000
AL =T AE JHSEAS 890,952 819,820 71,132
& 550,000
s 340,952
401 Al& Bl & 28I 890,952 819,820 71,132
& 550,000
i 340,952
01 A& HI 886,000 815,000 71,000
OLRIE=TAE HSAIS 786,000,000 786,000
& 550,000
s 236,000
ORI AE X2
5,000, 000& 1004 2 50,000
OLARZRESTAIE HEAMS
25,000,000 *20H 2~ 50,000
03 Al =2 THHI 4,952 4,820 132
OAXRAIETAIE NESAY AIE20HI
786,000, 000& *0.63/100 4,952
Ots&=% 2tel 248,820 246,350 2,470
< 29,700
s 219,120
SAAEAUI AXAY 20,000 20,000 0
401 Al BIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
OLARFEANE 2SI LE T X2
4,000,000 x50 2 20,000
oS4 22l 128,820 145,350 216,530
201 LB-2d| 128,820 145,350 A 16,530
01 At 22l 128,820 145,350 A 16,530
OARILTAIE 2HHA 242
570,000& 226 0H 2~ 128,820
SHENS &= A2 100,000 81,000 19,000
< 29,700
s 70,300
307 glz2tol & 100,000 81,000 19,000
< 29,700
s 70,300
05 RIZIRI & 3 100,000 81,000 19,000
Os0E Disd==X 22|
1,000,000& *100H 4 100,000
29,700

M

70,300




SN BALED
B N4 B2 (BYLS/MEET - +3)
el ofe=% FH| (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ot=% ZHl 2,160 2,160 0
ot== &l 2,160 2,160 0
202 O4dl 2,160 2,160 0
01 = LH 4 Hi 2,160 2,160 0
OZstx @ X =0 & ot=7 FHAE
=4 20,0003 «3H 32 «12& 2,160
9 IS (A AEEESA) 7,098,893 6,517,994 580,899
= 2,660,000
s 4,438,893
AgasE 2te| 969,845 953,124 16,721
101 @124l 127,544 114,946 12,598
04 JIZHHNZ22XNSE+ 127,544 114,946 12,598
ONBI4E ANBY 2E Y
41,6803 «11H 20«12 110,036
O4liEdg = 110,036,000& *0.0985 10,839
OF4+% HEXY ARY 41,6802 8 +20L 6,669
201 Let24E] 455,461 381,666 73,795
01 At 22l 78,981 72,820 6,161
Ogt=&H| 73,281
—&2E OSHRII 225 7Y 2,560
ItECIXI (2 XIA) 300,000& =33l 900
el 243 (5 66,000& x103l 660
DeElH 23 (ze) 200,000& =53] 1,000
—+FANE LRWLY 7
1,000,000& 35 3,000
— &= ZEIIE UMY 80& *5,0000H 400
— 44T XA 7Y 300,0002! 122 3,600
—44% MEE TSOH HBIMH XS
50,000& »12& 600
— &= = 2 Fx= =ZHA 39,661
= 32 35,0003 *40H 2 x52== 7,280
= g2t 1,700,000 128 20,400
== 271 2,100, 000& 43 8,400
S EN 60,0002 *243] 1,440
AL AMSS £HAA 535,200 +43] 2,141
—HAT MIAHBY YLD
250,000 404 A +122 12,000
—d el A S4AH| 120,000 128 1,440
— &% CCTV Xt = 450,000& x12& 5,400
—d3 FOUILIAAE =S
385,000& 128 4,620
Ooul=l 3,600




A R == R
B AGaT 2E(BALS/NGLE - +E)
Sel: 222 ZIOM(4LTAYSHIN) (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
— &S 60,0003 «12% x23] 1,440
- 29 30,0003 x12H x 13| 360
— gsts 100,000 x12H 13| 1,200
— &3 50,000& «12H *13] 600
O= &l 7,000 «5H x5 « 12 2,100
02 =224l 376,480 308,846 67,634
OZ22223 ¥ HMAl 232,480
—S=2 4Gt 3 A=A 3l
680,000 680
—NgasE HESF 2 IIgE MRS
15,000, 000& =122 180,000
—XNga+E SEH M3
200,000& 128 2,400
—Nga+E A 3&H 200,000 « 122 2,400
~NYALE Y IIUE EAR3
900,000& »12& 10,800
— 82U (&dX) HMeldl
90,000& =90 m* 23] 16,200
~MEHAX HeH ALE
100& x200,000& 20,000
oozl 10,000
—&dF dY Az 2,000,000 x50 A 10,000
OAN & ZH R Xl 72,000
— oY U BYMET NS
1,500, 0003 44 2+ 12& 72,000
OF+E X ¥ AT AR
4,000,000& *23| x4 4 2 32,000
OF+=Z AL & 24E WA
30,000,000& =14 30,000
202 odl 5,280 5,280 0
01 = LH YI 5,280 5,280 0
09y & Reaaxe AAA FE 0]
20,000 x2H x5« 123 2,400
O AN&28 2el ZRF& ol
20,000 x2H x6 2«12 2,880
206 M= tl 43,560 56,232 AN12,672
01 MHZ 4l 43,560 56,232 AN12,672
ONYH+E B2AE 2Y 43,560
— PAC 2803 *1,500kg*4 A+ 12 20,160
—Jtaatt 3003 x600kg*4I 2«12 8,640
— X0t AMLULES 3002 *900kg*40H A +12F 12,960
~+IANE STAL Y ADE 2
30,000& x5&+12& 1,800
207 A RO H| 110,000 171,000 A61,000




SN BFLCD
B AGaT 2E(BALS/NGLE - +E)
Sel: 222 ZIOM(4LTAYSHIN) (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
01 A2 EHH| 110,000 171,000 A61,000
Ol4E BYUY HHSY
100,000,000 = 14! 100,000
O4+E23 52 AINHUEY
10,000, 000 = 1Al 10,000
401 AlEHIZL £ 0HY| 228,000 224,000 4,000
01 Al&tl 228,000 224,000 4,000
O£ Jl=fc INEAME AALHES
20,000,000 = 1A! 20,000
Oat=T ANEZE HIIEH 29
2,000,000& #4004 A~ 8,000
OKNSAHSZ Xl BE2ZAS
100,000,000 #2204 £ 200,000
LS DA ¥ HMAIY 764,284 976, 111 A211,827
401 AlEHIZL 2 0HY| 764,284 976, 111 A211,827
01 Al 760,000 970,000 £210,000
OLs=a22 WHAY 100,000,000 *6. Okm 600,000
OLZEAHEI A 300,000 100 30,000
OLZBE S4SA 8% 80,000,000 *14! 80,000
OFE&AH &K 50,000,000& = 14! 50,000
03 Al& 2T bl 4,284 6,111 1,827
O:&z A L HMAY AIEF0UH]
680,000,000 x0.63/100 4,284
AL HIE2 22 B 84,000 84,000 0
401 Al HIZ 2 CHY| 84,000 84,000 0
01 Al&H| 84,000 84,000 0
O&=E Hix=2 2224
840,0002 * 1004 & 84,000
ML SLEZ2A 80,000 30,000 50,000
401 Al HI L £ 0HHI 80,000 30,000 50,000
01 Al& B 80,000 30,000 50,000
O&x=E Z 43 AHH| 1,600, 000& x50 0 & 80,000
OlHAMLEE SEPH SHZA 300,000 600,000 A 300,000
401 Al HI L 204 HI 300,000 600,000 A 300,000
01 Al&H| 300,000 600,000 A 300,000
OoAPMLE 2479 HBTA
100,000, 000& *3.0km 300,000
BeMLE S A SHEZA 400,000 300,000 100,000
401 Al HI L 2 0HHI 400,000 300,000 100,000
01 Al& H| 400,000 300,000 100,000




2N
X ZH -
L= B

el

R
NBtAE R(BEES
ASE BIUB(MLEAY

. _ = SfE|
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
ORHAZE 2479 HEZA
100,000, 000 *4km 400,000
e sHE M HEAY 2,150,715 432,089 1,718,626
2 1,500,000
= 650,715
401 AIEHIZ 2 OH L] 2,150,715 432,089 1,718,626
2 1,500,000
= 650,715
01 Al&H| 2,143,000 429,000 1,714,000
O H sHEMESS A
2,143,000, 000 =14l 2,143,000
2 1,500,000
= 643,000
03 AlE 21| 7,715 3,089 4,626
OUYH sHEMES S LAY AIE20Y|
2,143,000,0002 x0.36/100 7,715
280 e 714,464 2,137,000 N 1,422,536
2 160,000
= 554 464
401 AlEHI 2 2 0HY| 714,464 2,137,000 N 1,422,536
2 160,000
= 554,464
01 Al&H| 620,000 2,136,000 A 1,516,000
OZHH LTINS AS 620,000,000 14! 620,000
2 160,000
= 460,000
02 22l 90,000 0 90,000
OZABHHDULIN L AS 22l ]
90,000,000& x 14! 90,000
03 A& E20HH] 4,464 1,000 3,464
OLBHHU =ML AIE Al L2 0HHI
620,000,000 x0.72/100 4,464
SANXF sHE MESS HEALY 1,434,145 905,670 528,475
2 1,000,000
= 434 145
401 AlEHIZL 2 THHI 1,434,145 905,670 508,475
2 1,000,000
= 434 145
01 Al& H| 1,429,000 900,000 529,000
Osgd gasr XA
1,429,000,000& 14! 1,429,000
2 1,000,000
= 429,000
03 Al& 201 Y| 5,145 5,670 A B25
OsS8d Xegae AXAIY AIE20Y]
1,429,000, 000 *0.36/100 5,145




A R == R
M MBAT B (BEBE/MGAET - +3)
ol S22 ZIHM(4LTALSHIH) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e XNgass 579 2ESM 201,440 100,000 101,440
401 Al HIZ 201 Y] 201,440 100,000 101,440
01 A& HI 200,000 100,000 100,000
OUol 2ANT NYAHLE S47Y HFTM
200,000,000& 14! 200,000
03 AlE 2 THHI 1,440 0 1,440
OUALAXN AN L& +=ES =R AT I AL Al
=Rl 200,000,000% *0.72/100 1,440
SOHEDNS ot FHI(FEMNLSAMLSESIH) 2,890,791 2,832,081 58,710
= 2,014,000
J| 519,000
< 172,000
s 185,791
=25 ot Ald XA 1,753,290 2,113,582 A 360,292
= 1,223,000
J| 314,000
< 105,000
s 111,290
401 Al HIZ 201 Y| 1,753,290 2,113,582 A 360,292
= 1,223,000
J| 314,000
< 105,000
s 111,290
01 A& HI 1,747,000 2,106,000 A 359,000
OZ2F0S ot A4 EXNAESE
1,747,000,000& 1,747,000
= 1,223,000
J| 314,000
< 105,000
s 105,000
03 Al SR THHI 6,290 7,582 N 1,292
O=2F0t2 dt=Z Al XA AIER0HI
1,747,000,000& *0.36/100 6,290
M0tE o= &l 427,053 718,499 A 291,446
= 297,000
Jl| 77,000
= 25,000
s 28,053
401 Al HIZ 201 I 427,053 718,499 A 291,446
= 297,000
J| 77,000
< 25,000
s 28,053
01 A& HI 424,000 714,000 A 290,000
O3+ N OtSdt=% FHIAE
424,000,000& 424,000
= 297,000




SN BALED
B N4 B2 (BYLS/MEEE - +3)
&2l sHENS =% FUI(=EHNEMBEESH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
J| 77,000
< 25,000
e 25,000
03 Al =TI 3,053 4,499 A1,446
O+ M OtSot=% HHIAY AERUH
424,000,000% 0.72/100 3,053
A2 ot AlE XA 710,448 0 710,448
= 494,000
J| 128,000
= 42,000
e 46,448
401 Al HIZ 201 8] 710,448 0 710,448
= 494,000
J| 128,000
< 42,000
e 46,448
01 A& HI 706,000 0 706,000
OdE0IE ot=Z A& AX A
706,000, 000& 706,000
= 494,000
J| 128,000
< 42,000
[ 42,000
03 Al& =TI 4,448 0 4,448
O&EOtE ot AlE EXNAE AIER20UHI
706,000, 000% x0.63/100 4,448
ot H HUl(=EMLALSE3IAH) 453,240 0 453,240
g(MgE)ot=2H ZHIAY 251,800 0 251,800
401 A& HIZ 201 I 251,800 0 251,800
01 A& HI 250,000 0 250,000
Odd(MEE)ot=2 FHlIAY
250,000, 000& 250,000
03 Al 2 THHI 1,800 0 1,800
Oog(Md=E)ot=2H HUIAYE AIE2UYI
250,000,000% *0.72/100 1,800
g (ROIg)ots=2H HUIALE 201,440 0 201,440
401 Al HI K 201 I 201,440 0 201,440
01 A& HI 200,000 0 200,000
O9g(ezotg)dt=2H JulAY
200,000, 000& 200,000
03 Al 2 THHI 1,440 0 1,440
Od(2=0t2)dt==2 FHIALY AlE=2UbI
200,000,000% *0.72/100 1,440
St=% UMD (EIMSAIL S S 3 H) 5,287,510 5,519,815 A 232,305
J| 1,083,000




SN BALED
B NS4 B2 (BYLS/MEAE - +3)
©el: oS FUIAG (EMEASELESA) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 4,204,510
St=2AE2x 2 =4 840,000 594,410 245,590
401 Al HIZ 201 8] 840,000 594,410 245,590
01 A& HI 840,000 590,000 250,000
Oodt=& &4 A 90,000,000 90,000
Ost=21 2158 EAe 250,000, 000& 250,000
Odta=xMel2Y ti=&H HulAd
500,000, 000& 500,000
SHIIZAE 2E 22 4,447,510 4,925,405 ANATT,895
J| 1,083,000
s 3,364,510
201 ¢er24] 1,377,510 1,588,900 A 211,390
J| 289,000
s 1,088,510
01 At 22l 196,000 0 196,000
OSZII=ZAE J=dHHl 195,000
— o got=HelAME S 195,000, 000& 195,000
Odt A XIMelAlE HII1H Akt
1,000, 000& 1,000
02 =224l 1,181,510 1,588,900 A 407,390
O3 & HA 571,510
—ot=& E3ltl 1,600, 000& 1,600
_EBEHLLY GIATAN SEHSYBRIAY
Y3 1,300, 000& 1,300
— ol AlE Seael FAE2=H
1,010,000& 1,010
—E3I=AE #II23  41,000,000& 128 492,000
J| 90,000
s 402,000
— a2 33oteMelANE dIles
350,000 x1800 A =128 75,600
J| 35,000
[ia 40,600
OA&ZEHl S X bl 610,000
—SZIIZAE JIAHEH SN2+
40,000,000 40,000
Jl| 10,000
[ia 30,000
— 278 B3o=HelAlE X2t
70,000,000 70,000
J| 30,000
s 40,000
—==ZTMSHZI F=Z At & 2]
20,000, 000& 20,000
—SZJIZAE Jl=dd0 OE AMEHA
280,000, 000& 280,000




A R == R
B AGaT e (BALS/NGLE - +E)
Gl of=E FHAIS (ZEHEASELESAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
J| 84,000
s 196,000
—IsE=HMelAld Moo u
200,000, 000& 200,000
J| 40,000
[ia 160,000
307 glz2+ol & ,580,000 2,786,505 A 206,505
J| 708,000
fia ,872,000
05 RIZt2E = ,580,000 2,786,505 A 206,505
OEIIZANE Q2GS 2,580,000,000& ,580,000
J| 708,000
s ,872,000
401 AIEHIZ 28I 290,000 510,000 A220,000
J| 46,000
= 244,000
01 A& Bl 290,000 510,000 220,000
OEIZANE 2ASEFAY 70,000,000& 70,000
Odt= MWHIIMelAlE JWE2 220,000,000 220,000
J| 46,000
s 174,000
405 TtHebF S| 200,000 40,000 160,000
J| 40,000
s 160,000
01 XML = ZH SHI 200,000 40,000 160,000
Oolgdsot=xelAlE d2ttSx £3I1 WA
200,000,000 200,000
J| 40,000
[ia 160,000
S 2 (EMLASSLESIAH) 74,896 71,151 3,745
J| 74,896
g3 2l 74,896 71,151 3,745
J| 74,896
207 RO 74,896 71,151 3,745
J| 74,896
01 289 74,896 71,151 3,745
OgEAHI 74,896
— & . AZA SLIEHEZE 19,896,000& x 14! 19,896
J| 19,896
— YT QASTAHAE BB IN =4
55,000,000 » 14! 55,000
J| 55,000
[ BAMAANG (=EMLALSES H) 22,617 503,600 A 480,983
HELLEMZAIE 2 22,617 0 22,617
101 144 Hl 14,017 0 14,017




A R == R
B N4 B2 (BYLS/MEEE - +3)
EHel: HEQLSMZMG (=EMIALELESA) (&)
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
4 D122 E2XREES 14,017 0 14,017
O=4sX 280 2
41,680 5 +23| +30 12,504
OC4liEg = 12,504,000& *0. 121 1,513
201 Let24d] 5,600 0 5,600
02 =24l 5,600 0 5,600
O=s22= & HA 3,600
—&NIIe3 300,000 12& 3,600
OA&&EHl Sl 2,000
HESHMZAE REH S =al
1,000,000& *27| 2,000
206 M= Hl 3,000 0 3,000
01 M= 4l 3,000 0 3,000
OHIEQEMT AL |FX2e MY
3,000,000& 3,000
HII2X2s 2 Hel(#FES/HoI2) 1,029,572 791,473 238,099
= 11,000
< 10,100
s 1,008,472
HJI=S X 1,029,572 791,473 238,099
= 11,000
< 10,100
[ia 1,008,472
HOIEXM2ANE 29 615,456 599,593 15,863
201 Let24d] 563,822 438,673 125,149
01 At 22l 437,654 330,654 107,000
Ogt=&H| 423,476
—MYIISEM AHEEFE ME 7Y
3533 «10H*13,000AlI CH*12& 55,068
— M JISEH PPOHO M E F
450 100 »1,000AI CH =12 5,400
—338 85 MH F&(50L)
106 & *20,0000H 2,120
—NEs3 =2cl+1 PPOLTH (40kg) 7 &
100& %20, 0000H 2,000
—NEss8 2+ PPOIU(1E) ¥
6,000& *1,0000H 6,000
—MYII SN X THEEE MAH
500& =1,0000H 500
—MYISYEI 0w HE
100,000& =124 1,200
—Z2H ¥ XNeEs EE EYMIIE M
50,000& »200H 1,000
—S8SJHIIZ2 Mel==2
2,000,000& »23l 4,000




A R == R
FH: HIISNS 2 Hel(#ZES/HIIE)
&2 HIIS2H™e (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
A EFPEEEEEEEE
10,000& = 100CH 1,000
—HII=d=2 24 23 200,000& =103l 2,000
—MYIIE HEE ZFHEF 7Y
200,000& x10& %53 10,000
—MYIIE FAazel 285 7Y
20,0003 «5&+128 1,200
— MYIIE DA ZAIE
350,000 42 *23| 2,800
Y BES 2BANSLE
331,000& 128 3,972
— MYIIE F=HXG BAl=22
169,800& x9& *43] 6,113
— MYIIE =Y ORIt & Soh A
=B 421,000& *23] 842
— MgJIE dojetd e s+ 2
200,000 x12& 2,400
— Mg JlE CCTVE Xt === 110,000 »12& 1,320
— MYIIE RFH =2 200,000&*12& 2,400
—MYIIE IEYs =ANE
22,000 =20 =128 528
— NS EIIZA =3 55,0002 «30Hx23] 330
—MYJIfIMHelE Fax HAH
100,000 *20H 2~ 200
— MYl ZAItH2 HESH ALEZE
506,880& *x12& 6,083
— XEJl ZAISt02 EXNEAEE =8
1,000, 000& *6H A 6,000
—JIHEHIIE fIE A
130,000& *2,300& 299,000
ozdg=¢% 1,400
—HIJISH2AE FHIH FUXAI=
2/AAs =Y 70,00034*5‘23'*42| 1,400
O= &l 3,808
—MEYIIEI U BAX NESHER SA
7,0003 «6H «23| x 128 1,008
—MYDIHEHE HIAZRU S4
7,0003 10«30 2,100
—ogog Ji2t FA2RRN =S4
7,000& x20 x5 700
Ostzdilsta & #E 1=l 8,970
—&gs 80,0003 x23% »23| 3,680
] 30,0003 x23H x 13| 690
— gsts 100,000& x23H x 13| 2,300
— otM 3t 50,0003 x23H *23| 2,300
02 23224l 126,168 108,019 18,149
OMYDIMHeld MRS 36,728




A R == R
FH: HIISNS 2 Hel(#ZES/HIIE)
&2 HIIS2H™e (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= A=) 5,790& #350kw 128 24,318
MNMERS 68& *500kwh*365 12,410
OXNsxEE 3,560
— Y8322 1,200,000& *13] 1,200
—g8DZE™ 940,000& x 13l 940
— =4 920,000& *13] 920
—H&E X2 (9652250) 500,000& x 13l 500
Ozl 7,902
MEDIE FA HY A2
1,316.96& 404 =150 7,902
OA&EHl s Xl 67,978
— MgJIE H20 Edl 1,000,000 »1CH 1,000
—YEEA M| 250,000 = 10CH 2,500
~HESHET ALTY 24
500,000& 43 2,000
—=24) 80U
1,789.23& x12.54 *3A|2+x300 20,129
— HUEEE (R, 892,38 ,4M) =
2,000,000 52 10,000
— =40 =2l & 2e] 500,000& =23] 1,000
—=SE8 ¥ 4
1,789.233 %104 *2Al2tx300 10,736
— Az N IR
1,789.23R& 124 *2Al2k*3002 12,883
—MHEstHg S
1,789.23& x128 *1.2A12t%300 7,730
P E=Fakg:] 10,000
— 322/ (25E) 5,000,000& = 1CH 5,000
—EITEZ(5E) 3,000,000 *1CH 3,000
—MHEsHE(2.58) 2,000,000 = 1CH 2,000
203 R =&l 1,000 1,000 0
03 AIBFAH S =AY 1,000 1,000 0
oMol d™eld oias JRFI
20,000& =10 53] 1,000
206 M= Hl 8,840 8,840 0
01 = tl 8,840 8,840 0
OMIIZ @ Y ASAE DY
30,000& *14 =100 3,000
oMl &+ Melsds 2 5,840
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